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Time: 2.30 Hours] [Maximum Marks: 50
NOTES:

1) Attempt all questions. Attempt any two parts of each question.

i1) Students are advised to specially check the Numerical Data of question paper in both versions. If there
is any difference in Hindi Translation of any question, the students should answer the question according to
the English version.

ii1) Use of pager and Mobile Phone by the students is not allowed.

a)
b)

Explain Hook’s law with two elastic constants. [5]

A wire of length 2 m and radius .5 mm is compressed by .3 mm on loading. If the young modulus of

its material is 12.5 x 10'® N/m?.Find the compressive force. [5]
Explain stress strain curve for mild steel. [5]
define factor of safety. [5]
Explain moment of inertia. [5]
Write the moment of inertia formula for regular three figures about x axis. [5]

The cross section of a column is circular of 2cm diameter. it is 4m long and both ends are fixed. Calculate

Euler’s crippling load. E=2.1 x 10° N/mm?. [5]
Write the difference between column and struts. [5]
What are the assumptions for the pure bending? [5]

A moment of SKn-m is acting on a beam. Calculate maximum bending stress at the beam if width and depth of

the beam 100mm and 200mm. [5]
What is radius of gyration? [5]
What is elastic curve and write the equation of this. [5]
Explain longitudinal and circumferential stress. [5]
Explain the power transmission in the shaft. [5]
How many types of load. [5]
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a) G ATHCR TERIh o HIY geh & T hr saredT | [5]
b) 2 FHrex oiaTS 3R .5 e oA T veh dR ol el ) .3 TRt garr ahfza glar &1 afe sa
gere T JieT AT 12.5 x 1010 N/m? § aF UTSeT 5ol 3ATd Il | [5]
©) o3 T & TAT wfdael fashfa ash T carear w3 [5]
a) &I & FRb Pl IRAVT H| [5]
b)  STEcT JTEOT T FHSTSA | [5]
o fafAa e smepfcrat & forw Sisea 3mguT @7 fafw x 3787 & 9Rka: | [5]

a) Teh T3 T ITTIEY i 2 HH SATH T MR | Tg 4 HIe ofal g 3R el R R | ek

JehfelaT HR T I0TAT | E=2.1 x 10° N/mm?| [5]
b) it 3R Tged & T HR o | [5]
) UCH ool & [T FIT AT &2

a) 5Kn-m @ Sof ol Ueh JTEUT Ueh &R I R &Y T@T 5| ATG &Rt isrs 3R arewrs 100 fAA

3R 200 TAHAT g1 Al A TR TR TH Sfehel dlel TeATd ST IOTAT Y| [5]
b) TRFHUT H AT FATE? [5]
¢) UcIY dsh T § AT ST THI 0T [l f QU] [5]
a) 3ICEY 3R IR AT Y FHSSY | [5]
b) ATHS H ALY AT I AT | [5]

¢) HR fohdel YehR ST EIaT 82 [5]



